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Part 1
Answer any four questions. Each question carries 2 weightage.
Answer to each question should not exceed 100 words.

Explain marginalization and its manifestations.
Explain the four major types of children’s rights.
ICPS
Nirbhaya project Kerala.
Challenges of Ageing.
Rehabilitation of Persons with Disabilities.
Caste based oppression.
(4 x 2 = 8 Weightage)

Part 11
Answer any four questions. Each question carries 3 weightage.
Answer to each question should not exceed 300 words.

What are the major welfare programmes for SC/ST in India?
Explain the major barriers to inclusion faced by people with disabilities.
Explain the scope of Social work practice in enhancing the quality of life of elderly
What are the major schemes for elderly in India?
Explain the categories of vulnerable women.
What are the major risks and outcomes of social exclusion?
Explain the major functions of any two national and international agencies working
with children.
(4 x 3 =12 Weightage)
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Part 111
Answer any two questions. Each question carries 5 weightage.
Answer to each question should not exceed 800 words.

Write an essay on the different categories of disability, its causes, consequences and
the role of social worker in building an inclusive society.
Explain the major categories of vulnerable children and the institutional and non-
institutional services for children in India.
What are the major issues and concerns of women’s education, health and
employment in India? Discuss some of the major programmes for women
development in India.
Discuss the role of various socio political movements and the approaches used in
Social work practice in eliminating caste based oppression.

(2 x 5 =10 Weightage)
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